Run 5664 mpswise, accO: All
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Run 5664, mpswise, acc0: Beam ON, Laser ON
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Run 5664 mpswise, accQ: Beam OFF
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Run 5664, mpswise, acc0: Beam ON, Laser OFF
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Run 5664 mpswise, BCM: All Run 5664 mpswise, BCM: Beam OFF
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Run 5664, mpswise, lasPow: Beam ON, Laser ON
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Run 5664 mpswise, bpmAx: All Run 5664 mpswise, bpmAx: Beam OFF
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Run 5664 mpswise, bpmAy: All
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Run 5664 mpswise, bpmAy: Beam OFF

200 — Entries: 12063
BOO :— -l Mean: 000797 +/- 0.0017
200 = Sid Dew: 0.1870 +- 0.0012
600 —
500 —
400 -
300
200 —
100 —
— | - | | | | | | | |
Y3 0.4 0.6 0.8
bpmAy
Run 5664, mpswise, bpmAy: Beam ON, Laser OFF
EI:]EI-D :_ Entries: TG3T
: Mean: 008013 4/~ 00001
5000 — Std Dev: 0.0281 +- 0.0001
4000 —
3000 —
2000 —
1000 —
D_||||lll||||_1| A T T N N T O T 0 N N M P S B O B
0.4 0.45 0.5 0.55 0.6 0.65 0.7 0.75

bpmAy



Run 5664 mpswise, bpmBx: All Run 5664 mpswise, bpmBx: Beam OFF
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Run 5664 mpswise, bpmBy: All

=10
:_ _ Entries: 248575
;_ Mean: 0C353IT 4~ 00005
;_ Sid Dy 02507 - 0.0004
I TNy | L I AT A S AT AN A A T AN AT AN AN AN AT AN S AN AN A A
-5 0 5 10 15 20 25 30
bpmBy
Run 5664, mpswise, bpmBy: Beam ON, Laser ON

B Entries: 140676

— Mean: 04061 4~ 0.0001
: Sitd Dy 00272 &~ 00001
_I [ v (I I T T I B B B [ (T S T N A N A B
0.25 0.3 0.35 0.4 0.45 0.5 0.55 0.6 0.65

bpmBy

7000

6000

5000

4000

3000

2000

1000

6000

5000

4000

3000

2000

1000

Run 5664 mpswise, bpmBy: Beam OFF

Enlries: 12083

Meary: -0.E344 &/- U001

Sid Dev: 04546 - 0.0029

-5 D 5 10 15 20 25 30
bpmBy

Run 5664, mpswise, bpmBy: Beam ON, Laser OFF

Entries: TEST

Mean: 08061 +/- 0.0001

Sid Dey: 00284 +- 0.0001

B T S R B A I AN N TN N T = N B i IO R O A

L1
0.2 0.25 0.3 0.35 0.4 0.45 0.5 0.55 0.6
bpmBy



Run 5664 mpswise, beam ON, laser ON
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Run 5664 mpswise, beam OFF, laser ON
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Run 5664 mpswise, beam ON, laser OFF
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Run 5664 mpswise, beam OFF, laser OFF
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Run 5664 mpswise, beam ON, laser ON Run 5664 mpswise, beam ON, laser OFF
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Run 5664 mpswise, beam ON, laser ON
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Run 5664 mpswise, beam ON, laser OFF
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Run 5664 mpswise, beam ON, laser ON Run 5664 mpswise, beam ON, laser OFF
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Run 5664 mpswise, beam ON, laser ON
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Run 5664 mpswise, beam ON, laser OFF
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Run 5664 mpswise, beam OFF, laser ON Run 5664 mpswise, beam OFF, laser OFF
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Run 5664 mpswise, beam ON, laser ON
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Run 5664 mpswise, beam ON, laser OFF
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Run 5664 mpswise, beam OFF, laser OFF
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Run 5664 mpswise, beam ON, laser ON
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Run 5664 mpswise, beam ON, laser OFF

I
I
I
I
T
I
I
I
|
I
I
!
I
I
|
:
I
h
I
I
=
|
1
I
)

1 1 1 1 | L 1 1 1 | L 1 1 1 | L 1 1 1 | L1 =1 ﬂa L 1 1 1 | L 1 1 1 | 1 1 1 1 I 1 1 1 1 | L 1 1 1 | L 1 1 1 | L 1 1 1 | L1 i=1 ﬂa
50 100 150 200 250 300 350 50 100 150 200 250 300 350
mpsCoda mpsCoda

Run 5664 mpswise, beam OFF, laser ON Run 5664 mpswise, beam OFF, laser OFF
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